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A E BEAM Z40| OfL|C} (It's not yours!! Focus Naming!!)

public class Customer {

private String msName;
public void setName(String psName) {
this.msName = psName;

}




AAE BEAM Z40| OfL|C} (It's not yours!! What is the logic composed? #1)

public class MovieVideo extends Video {

@Override
void initialize() {

iIT (period >= 3) {
price = ((price /7 2) / 100) * 100;
by
}




AAE BEAM Z40| OfL|C} (It's not yours!! What is the logic composed? #2)

@Override

public Int calcRentalFee(int rentalPeriod) {
int rentalFeeTotal = O;
iIT (rentalPeriod <= discountPeriod) {
rentalFeeTotal = (int) this.defaultRentalFee * rentalPeriod;
} else {
rentalFeeTotal = (int) this.defaultRentalFee * discountPeriod;
rentalFeeTotal += this.defaultRentalFee * discountPercentage
* (rentalPeriod - discountPeriod);

}

return rentalFeeTotal;

}




AAE BEAM Z40| OfL|C} (It's not yours!! What is the logic composed? #3)

@Override
public Int getCharge() {
int result = 0O;
iIT (rentalPeriod > 2) {
result = (defaultCharge * 2)
+ (rentalPeriod - 2) * (defaultCharge /7 2);
} else {
result = defaultCharge * rentalPeriod;

}

return result;

}




A E BEAM Z40| OfL|C} (It's not yours!! What is the logic composed? #4)

public Int getPoint(Customer customer) {
for (int i = 0; i < customers.size(); i++) {
Customer c = customers.get(l);
IT (customer.equals(c)) {
return c.getPoint();

+
+
return NO_DATA;

}




A E BEAM Z40| OfL|C} (It's not yours!! What is the logic composed? #4)

public Int getPoint(Customer customer) {
1T( 1sRegisteredCustomer(customer) ){
return findCustomer(customer).getPoint();
} else {
return NO_DATA;

}
}




HAE AHOolAs FAS HAE o

(Out of order! So, what?)

AQIR| & = AO{OF 2Lt
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@Test

Video matrix

}

public void testMovieVideo() {

= new MovieVideo(''Matrix", 4, 1000);

assertEquals("Matrix", matrix.getName());
assertEquals(500, matrix.getPrice());

public void testMovieVideoRound() {




Object Null Check &}

@Test

public void testCustomerName() {
customer = new Customer();
customer.setName(“HAL™);
assertEquals(“d#HA 2", customer.getName());

}
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O] RS MAMSHE 1 O|AS 8l QLCt (I'm cheating on you!!)

public boolean AddToRentalVideoList(Video video) {

RentalVideoList.add(video);
totalVideoCount++;

totalFee += video.RentalFee;
return true;

}
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Naked

public class Video {

public enum VideoGenre { Movie, Sports, Documentary }
public Int fee = 0;

public Object Genre = null;

public String videoName;

public Int RentalFee = 0O;
public 1Int RentalPeriod = O;
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@2 =l 0|4l (Old Fashioned Myth)

@Override
public String toString() {
StringBuilder builder = new StringBuilder();
bui lder .append(*" ");
builder._append(title);
bui lder .append(*" ");
bui lder.append(fee);
return builder.toString(Q);

}

@Override

public String toString() {
return " " + title + " " + fTee;

¥




AAHSE 0|23t A= (Role Playing Game with Temp vars. #1)

Int term = rentalVideos.get(video);
Int daysForSale

= video.getNumOfDaysForSaleApplying();
int fee = video.getFee();

iIf(term < daysForSale) {
totalRentalFee += (fee * term),;
} else {
totalRentalFee += (fee * (daysForSale - 1));
totalRentalFee += (Tfee * video.getSaleRate() *
(term - daysForSale + 1));

}




AAHSE 0|23t A= (Role Playing Game with Temp vars. #2)

public void testGetVideolnfos() {
String 1nputVideoType
= VideoType.VIDEO TYPE MOVIE;
String i1nputVideoName = "Twilight";
int 1nputVideoRentalFee = 2000;

Video video = new MovieVideo(inputVideoName,
inputVideoRentalFee);
String outputVideoName = video.getName();
String outputVideoType = video.getType();
Int outputVideoRentalFee
= video.getDefaultRentalFee();

assertEquals(inputVideoName, outputVideoName);

assertEquals(inputVideoType, outputVideoType);

assertEquals(inputVideoRentalFee,
outputVideoRentalFee);

}




AAHSE 0|23t A= (Role Playing Game with Temp vars. #2)

public void testGetVideolnfos() {

Video video = new MovieVideo(""Twilight”, 2000);

asserteEquals("'Twilight", video.getName());

assertEquals(VideoType.VIDEO TYPE MOVIE,
video.getType());

assertEquals(2000, video.getDefaultRentalFee());

}




CHA &7 28G|1? (What's wrong with you?)

public double totalRentalFee() {
if(rentalVideos.size() == 0)
return 0.0;
double totalRentalFee = 0.0;
for(Video video : rentalVideos.keySet()){

hd

public double totalRentalFee() {
1T( notExistsRentedVideo() )
return 0.0;
double totalRentalFee = 0.0;
for(Video video : rentalVideos.keySet()){




E 251t HIAEQ| ZYX| (NT, new technology? NO! Not Testable!!)

@Test

public void 1A420[FHF0[UALO {
Customer person = new Customer(*'person');
//person.setName(''person’);
assertNotNul l (person.getName());

}

@Test

public void H|C|2ZZ=371X| {
new Video("'movie"™, "'");
new Video("'sports', '"");
new Video("'documentary'™, '"");

}




= AH

ot

tA S|, OfL|™ ZHEFS| (Clearly or simply, you choose!)

@Override
public Double getSaleRate() {
return 1.0/2.0;

}




HZ = L{EO| OfL|2fH OfL| 2t &StC (I'm a Immutable!)

public class VideoTest {
Video movie;

Video sports;
Video documentary;

@Before

public void setUp() {
movie = new Movie(''300", 300);
sports = new Sports("EPL", 600);

documentary = new Documentary("'1 A0
1200);

}

-

HZ




HZ = L{EO| OfL|2fH OfL| 2t &StC (I'm a Immutable!)

public class VideoTest {

final Video movie = new Movie(''300", 300);;
final Video sports = new Sports("'EPL'™, 600);;
final Video documentary

@Before
public void setUp() {

}

= new Documentary("'1 M0| Z}Z4/CH*, 1200);;




AAE BEAM Z40| OfL| L} (How about your condition?)

final 1nt DISCOUNT_CONDITION = 2;

@Override
public Int getDiscountCondition() {
return DISCOUNT_CONDITION;

}




A= EA 0| OFL|Ct (Use brace #1)

public 1int getRentalPrice() {
iIT ( mVideo.enableDiscount() )
iIT ( 1sDiscountRental() )
return (int) (getRentalDiscountPrice());

return getRentalNonDiscountPrice();

}

public int getRentalPrice() {
iIT ( mVideo.enableDiscount() ){
iIT ( 1sDiscountRental() ){
return (int) (getRentalDiscountPrice());

}
}

return getRentalNonDiscountPrice();

}
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AEQ| BN Z H=S| (Who.are.you?)

@Test
public void testMovieVideo() {

Video matrix = new MovieVideo("Matrix'", 4, 1000);
assertEquals("Matrix", matrix.getName());
assertEquals(500, matrix.getPrice());

+

@Test
public void testMovieVideoRound() {

Video matrix = new MovieVideo("Matrix'", 4, 900);
assertEquals("Matrix", matrix.getName());
assertEquals(400, matrix.getPrice());

+




el 23S (API vs Model #1)

@Test
public void testRentalInfo() {

List<Video> list = new ArrayList<Video>();
list.add(matrix);

list.add(nba);
list.add(earth);

List<Video> 1nfo = shop.getRental Info(thewmat);

assertArrayEquals(list.toArvay(),
info.toArray())

| |
Java API (=List) Logic(=model)



=7 (API vs Model #2)

public void testRentVideosByCustomer() {

List<RentalVideo> videolList

= new ArrayList<RentalVideo>();
videoList.add(rv);
videoList.add(rvl);

RentalInfo rental
= new Rentallnfo(customer, videoList);
Model API (=List)




el 23S (API vs Model #3)

@Test public void rent_finished() {
Calendar rentalDateTime
= Calendar.getinstance();
rentalDateTime.add(Calendar.DAY OF MONTH, -3);

Customer customer = new Customer(''javajigi');
RentalVideo rentalVideo
= customer.rent(
new Movie(:j%EW', 1000), rentalDateTime, 2);
assertFalse(rentalvrdeo-isRent());T

}

I |
Model API (=Calendar)
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HIC|2 74A|7t 2 24ap BT S g7 BRI,
(Hmmm.. In my opinion, clerk’s name must be "Video Shop")

Public class VideoShop {

public void rental (Customer customer, Video video) {

for (int i = 0; i1 < customers.size(); i++) {

Customer c = customers.get(i);

IT (customer.equals(c)) {
customers.remove(l);
c.setRentVideo(video);
c.addPoint(point(video));
customers.add(c);
return;

}
}

customer.setRentVideo(video);
customer.addPoint(point(video));
customers.add(customer);




420 et = HAE € == U0t
(I have a falcon eye.)

public void testRentVideosByCustomer() {

int 1ndex = O;
for (RentalVideo video : rental.getRentalVideos()) {
asserteEquals(
video, rental.getRentalVideos().get(index));
Index++;

}




AAE BEAM Z40| OfL|C (It's not yours!! What is the logic composed? #5)

public void testRentVideoByBonusPoints() {

IT (rental.getCustomer().getName() .equals(customer.getName()))
{
for (RentalVideo video : rental.getRentalVideos()) {
IT (video.getVideo() .getType() -equals(
VideoType.VIDEO TYPE MOVIE))
assertEquals(l, video.getVideo() .getBonusPoints());
else 1T (video.getVideo() .getType() -equals(
VideoType.VIDEO TYPE DOCUMENTARY))
assertEquals(l, video.getVideo() .getBonusPoints());
else 1T (video.getVideo() .getType() -equals(
VideoType.VIDEO TYPE SPORTS))
assertEquals(2, video.getVideo() .getBonusPoints());

}
}




AtEO BHX|OF Al HEQ 70| 2 QIC},
t

public class DocumentaryVideo extends Video {
private final int discountPeriod = 3;
private final double discountPercentage = 0.25;
private final int defaultBonusPoints = 1;

@Override
public int calcRentalFee(int rentalPeriod) {
int rentalFeeTotal = 0;
iIT (rentalPeriod <= discountPeriod) {
rentalFeeTotal = (int) this.defaultRentalFee * rentalPeriod;
} else {
rentalFeeTotal = (int) this.defaultRentalFee * discountPeriod;
rentalFeeTotal += this.defaultRentalFee * discountPercentage
* (rentalPeriod - discountPeriod);
+
return rentalFeeTotal;
+
+

Foez B2 XS oL, "Edo| Hotetets HA| oF F UEEL
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A E BEAM Z40| OfL|C} (It's not yours!! Focus Naming #2)

public class Movie extends Video {

public Double getSaleRate() {

}.“

public 1Int getNumOfDaysForSaleApplying() {

.
}




HAE Of|ME X|CHSH SRPE X|ZICH
(Always keep in mind, SRP)

iIf(c.rent(v, 1)) {

Assert.assertEquals(l, v.getRentalPeriod());
} else {

fail();
by

*SRP: Single Responsibility Principle



A Xt 2Xt2A (Coupling from somewhere over the rainbow)

public class Sports extends Video {
static public 1nt SPORTS POINT = 2;

public Sports(int defaultCharge) {
super(defaultCharge);
type = VideoType.SPORTS;

}

type = O{L|Z0f?



UE AE0 =AMt EROHEH JdANE HAE ofh
(A parts on the conveyor belt can be stolen)

MockVideo video

= new MockVideo(VideoType.MOVIE, "=, fee);
video.setDiscountRule(discountRule);
video.setStartDiscountDay(startDiscountDay) ;

asserteEquals(2500, video.getRentalFee(rentalPeriod));




A= O 108 =0tst L& (More things to think #1)

private List<Video> rentalVideolList
= new ArrayList<Video>();

getRentalVideoList() Z2 Method gl

¥

private ArrayList<Video> rentalVideoList
= new ArrayList<Video>();




A= O 10I5)| =0tst L& (More things to think #2)

public class Sports extends Video {
private static final iInt START_DISCOUNT_ DAY
= Integer.MAX VALUE;




A= O 1015 =0tst L& (More things to think #3)

public RentalVideo from(Calendar rentalDateTime) {
this.rentalDateTime = rentalDateTime;
return this;

}

public RentalVideo during(int rentalPeriod) {
this.period = rentalPeriod;
return this;

}

RentalVideo rentalVideo = new RentalVideo(this,
video) .from(rentalDateTime) .during(period);

rentalVideo.from(Q)
rentalVideo.during()




2= O Dol 203k L 2(More things to think #4)

private long sessionRentalFee;

private iInt sessionPoint;

private List<RentalVideo> rentalVideos
= new ArrayList<RentalVideo>();

private void addSessionPoint(int point) {
this.sessionPoint += point;

}

private void addSessionRentalFee(RentalVideo
rentalVideo) {
this.sessionRentalFee
+= rentalVideo.getRentalFee();

}




A= O 105 =0tst L& (More things to think #5)

Lazy Loading

private void prepareList() {
1IT( rentalList == null ) {
rentalList = new ArrayList<VideoRental>();

}
}
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(SoIJrce has to be easily readable)

HAE CHAS HEs| EHTH}
(Clearly express what test you want to)

Q2 TAlo| AAZS TR UL HAES J|E
(0,1, under, exact, over, very big)
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